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Who was the Prime Minister of England at the time of First Round Table Conference?

% Ramsay Macdonald

(B) Loyid George
(C)  Arthur Balfour

(D)  Pitt the Younger

W5 aul L Goag wrpr e Curg @hdorsder Grsw widNwres @mhseui wri?
(A)  grwCs wrsL_arme(H

(B) emulll gmitsd

(©)  syisi une.Cu

D) @éeerw QL

Who revealed the secrets of the Panchalam Kurichi fort to the British?

(A) Mamulanar (B) Udaiyar Servai
/ Ramalinga Mudaliyar (D) Muthu Karuppan

umgpsralb @GHlEs Car e sflukismer oy idCawiiseafl_1b Qasefii QsEweur wir?
(A)  wrapevei (B) 2.ewnrt Gsreneu

(C)  pmoellms apgeSwim (D)  wss smuem

When Bahadur Shah was proclaimed as Pad Shah by the mutineers?
11t May 1857 (B) 24t May 1857

() 11* June 1857 (D) 24% June 1857

Lyl Hwirarisenme eriGUng LSSIT agr UTFagreauns YrsLemd GelwdulLrr?
(A) G 1l-ibmmer 1857 (B) G 24-b mrer 1857
(C) o®en11-1b prar 1857 (D) g 24-b prer 1857
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4. What percent is 15 paise of 2 rupees 70 paise?

@)  62% B) 5%%

© 9%% \/5%%

2 epumis 70 ewugmelley 15 enuigrn ergseanar 563507

5 6
A 6—% 5—9%
@ 62 O ® %
© 93% O 52%
5 9

5. A bicycle marked as Rs. 1,500 is sold for Rs. 1,350. What is the percentage of discount?

A) 9% ‘Wf 10%

© 12% D) 15%

@ Wyl ellene . 1,500 erermy @dluGLLiul Berergl. @senear gp 1,350 &@ elbmme

FeT(EHLIg. §56IFLD eTenen? .
A 9% (B) 10%
©) 12% (D) 15%

6. In a college, %th of the girls and %th of the boys took part in a social camp. What of the
total number of students in the college took part in the camp?

13 13
o ®

2 8
\/E o -

@ soanflulled paL Qunp seps apsmidlad % — meawredlH(eH D %a)- LDTERTQUTE(EHLD EHQbg) GamamLai.

A)

erafler sissaaniluie sabg Qarar_ Corss wrameuisaier eldss Gamans eraen?

13 13
T & =
2 8
@ = 0 =
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T The factors which influence Indian Economy’s development are

M Economic and Non-Economic factors

(B)
©)
(D)

Social and Industrial factors
Technological and Communications factors

Human factor and Mechanical factors

@pHw Qumrmaertsmysden cuanirEludicd sr&ssHaen gHUSHID srranilser

A)
B)
(©)
D)

(A)
©

Qurpenmgmy wHmMID QuTEeTTSTYD FTyT  SryailsEsb
sapsmu Hmb Qsmplnh sryemflser

Qamflmu wHmb QFree Qsmir smyesiser

wafls sryefl wHmb Quikdy sryewtlser

Which Article confers the Reservation of seats for SC and ST in the House of the people?

Article - 331 . W Article - 330

Article — 324 (D) Article — 326

Ul igue euGliy wHmd uligued LEGUIEmES abs Tduamwily §r5g wasammeiude @)L

@uisSsH Qaldng?
A) a5z - 331 (B) ayps5 — 330
C) eris - 324 D) * sr65 — 326

9. The protection of Human Rights Act 1993 was amended in the year

(A)

2004 (B) 2005

y 2006 ' (D) 2007

weflg o Manwols Lrgariys s b 1993, sl L Hmasb Gawiul L e[

A)
©)

2004 (B) 2005
2006 (D) 2007
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10.  Which of the following satellite that enables imaging of surface feature during both night

and day under all weather conditions?

(A) KALPANA-I

/ RISAT-II

(C) RESOURCESAT-II
(D) CARTOSAT-I

Qemaumd eréQewnesCamer @rey usOTs Smanss auralamasaigibd Lell Cupuri Campphisemen
Ligoon&ELD Hmen Qameir._g)?

(A) séoueamr- 1

(B)  Mevm_-II

(©) MGerrevenm_-II

(D) s CLram-I

11.  The world’s first hydrogen-powered train was introduced in
(A)  France
(B) England
Germany

(D)  Turkey

eanL_reen s&Hufd @uriEg 2 wdlear e Qruiid euarig emw él,rﬁ](gmuu@g;ﬂm B
(A) ﬂgrr.eha;

B) @udanbs

(C)  Qgmoaf

D) gmsd
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12.

13.

What happens in oxidation reaction?
loss of electrons

(B)  gain of electrons

(C) loss of oxygen

(D) gain of hydrogen

2 GedlCenhp efleneruiles eranen Flapdme)?
Q) eeslgrarsefler Qi

B) eras_prensetler gmy

©C) yseligar Qpliy

D) mapygen gy

Identify the ore of iron
Magnetite (B)
(C) Bauxite (D)

Epsaam_aupdler @ mbyedar srg@uTmer 675 ?

(A) CuwsarenL (B)
(C) uréeev_ (D)
Which one of the following metal is not present in

(A) Cr - Chromium

Felspar

Cuprite

el LIavLITT

@UenyL

Ni — Nickel

(C) V-—=Vanadium MZn Zinc

6Tos@eleb @L b Qumg 2 Garsid erg)?
(A) Cr-@Crmiwb (B)
(C) V-Caulpguid (D)

Ni — fl&ae
Zn — s

FAGST
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15. The founder of the art school, Kalakshetra in Chennai is
(A) Padma Subramaniyam
(B)  Chitra Visveshwaran
(C) T.K.Pattammal
Rukmini Devi Arundale

Qeanenanigiarer ‘aor Caggrm saaliudrailaws seusdweu LU,
(A)  ugor slTwerflwb

(B) &gy fesCeusieuyer

(C)  14.Gs. ulLibwomer

D) mélenfl Gaalll e

16. The Pandiyan King who atoned for the injustice rendered to Kannagi and renovated
Madurai, is

(A)  Talayalanganathucheru ventra Neduncheliyan

(B) _ Ariyappadai Kadantha Neduncheliyan
Chithiramadathu thunjiya Nanmaran

(D) Maduraiyai Meeta Sundara Pandiyan

sanendleE® @owssiulL opdeg Grmufssnd Qsiig waorow Bar@n Qurdans Qsus
LITERT I WL) LD TG

(A) _ seewrensradsiCen Qaemn Qb Es6siduier

B)  flwulueL s_ps AbHEr6sfwuear

©)  Asflyom_ssis 5168w penorpen

D)  wgerenw B L &by LTeTs W6

7. In which yez;r India formed its first Coalition Ministry at the centre?
(A) 1976 W 1977
(C) 1978 (D) 1979

aTh e @b Euiredled s psers wHHND sal Lall iy HLESILLLG?
(A) 1976 B) 1977
(C) 1978 (D) 1979
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Which of the following diagrams correctly represent the three words; English, Latin, Greek?

idlob, asdda, HCrasn <du epeary eurisamssamar sflwns Qaeflliu@sgd Gy 2 drer LL b

6TEI?
(A)
(©)

(A)
©

O @
OO.

(B)

Which number is in all the geometrical figures in the following diagram?

/1\7
_ e\

O
QO©

/ :
\(2 B) 3

© 5 D) 8

ECujeTer LLusefle eTHS GTerT Si@ensg) euigeu UL misafled @b QupdlméHng?

/\
i

4 5 o\ 8

/ 7 ( : \9

A 2 (B) 3
©) D) 8

on
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20. Match :

Wildlife Sanctuary

(a) Brahma giri
(b) Sathyamangalam
(c) Bassi
(d) Kedaranath

(2) (b) ()

\/ 3 1 2

B 2 1 3
© 3 1 4
(D) 4 1 3
QuT(HSSS :

GUETEY GTEI (8 STERTTEILD
(o) BB
(b) ssHuRSD
(¢) urd
(d) GCasiprs

(a) (b) (c)
A 3 i 2
B) 2 1 3
(C -3 1 4
D) 4 1 3

[T S A

(d)

T

(d)

= W o

o oW B OE

State

Tamil Nadu
Rajesthan
Karnataka

Uttarahand

wHled
SRETH
TSRV &TERT
SMHTL ST

o Susmenr_

21.  The Ozone Deflation is mainly caused by the gas

vyf CFCs

©)

Na,

B) SO,
(D) €O,

@Caren sflefanar odseraier o (Heuns@En aumy

(A)
(©)

FAGST
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B) S0,
@) €O,
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23.

24.

The longest lunar eclipse of the 215t Century took place on
(A)  June 27, 2018 w’ July 27, 2018
(C) August 27, 2018 (D) September 27, 2018

21 <yib mropreTy ér s Bear spdyflgaad Haphs prer.
(A) g@var27,2018 (B) gree 27,2018
(C) =sevl 27,2018 (D) © @euiibuir 27,2018

Match the following :

City Function
(a) Cultural city 1. Shantiniketan
(b) Industrial city - 2. Lucknow
(¢) Religion city 3. Durgapur
(d) Educational city 4. Tirupati
(a) (b) () (d)
(A) 1 2 3 4
2 3 4 1
© 4 3 2 1
M) 3 4 1 2
QuTHESS :
BETD Qewéum
(a) sersery paETD 1. empHHCss6n
(b) Qgrfperene B&TD 2. esCenr
(¢) swLwWpsTD 3. sIn&sTLT
(d) seoel parbd 4.  Hmuud
(2) (b) (c) (d)
A 1 2 3 4
B) 2 3 4 1
< 4 3 2 1
(D) 3 4 1 2

‘Operation Madad’ is associated with Indian State of

(A)  Gujarat (B) Rajasthan

(C) Punjab W Kerala

‘WS Ly dms ereamug) Aereumbd erhs QnEw wrElasGastH GsTLiamwig)?
A  ems ' (B) @yregevgrer
(C) ugpeml (D) Casyerr

11 FAGST
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25.  Ganong's respirometer can measure the following

(A) Photosynthetic efficiency of plants

M R.Q. of respiratory substrates

(C) Qo of respiratory metabolism

(D) Rate of COz evolution during respiration

sranmana AreviGrmbL L areng sjareil’_(H s (Hb?
Q) qafiECsisaa Hmen

(B) seuns ppassapsafiar R.Q.

(C)  Quoen seune eueniidlens OTHHLD

(D) seundlggeilen CO2 Qeuaflafi(Bid 2ieme]

26. The average length of human pregnancy is

(A) 34— 36 weeks

‘/ 36 — 38 weeks

(C) 38 —40 weeks

(D) 34 —40 weeks

syrad waflgaiean ST ST
(A) 34-36eunpbd
B) 36— 38eungd
(C) 38-40eumpd

(D) 34— 40 eumpd

FAGST 12



28.

29.

Area of a triangular garden is 800 sq.m. The height of the gareden is 40 m. Find the base
length of the garden.

(A)  20m vﬂ(zwm

(C) 10m D) 50m

oM wsCaranm cugasdaidrer Com_sder Lrluaey 800m®. seupdlar ewmb 40 m eafléd
SISCHTL_Fl6m iig. 2 WD wmg)?

(A) 20m (B) 40m

(C) 10m (D) 50m

Calculate the area of the quadrilateral whose length is 20 cm and perpendicular distance to

the diagonal from opposite vertices bé 7 cm and 10 cm

(A) 160 cm? (B) 110 cm?

(C) 100 cm? ' M 170 cm?

@ prosrsdar Semb 20 Qs.8, adi QshEss 2wrd 7 Qsd-b womb 10 Q&bd-b @mbsre
Sleupmler UFLILIGTE, &Tes. -

(A) 160 cm? (B) 110 cm?

(C) 100 cm?2 (D) 170 cm?

- A room is 5 meters long and 3 metres wide. The area of its four walls is 88 sq. metres. The

height of the room is
A) 65 B) 7.5

Vﬂ( 5.5 D) 85

@@ oempler Serd 5 m, s 3 m, Supdar prH seuisaflar urliuere; 88 m? eafle,
Sjeuauemnuilen 2 WD STeRTs

A) 65 | B) 7.5
© 55 D) 85

13 FAGST
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30. Which diseases have been eliminated in India?
(A) Malaria and Dengue

' (B) Typhoid and Tuberculosis

j Small Pox and Plague

(D)  Chicken Pox and Leprosy

Qpdlurelld pulssiul L Cpmiser ereneu?
(A) wCaflwr, ALiieg

B) e iumi®, steCrmi

(C) Quflw 2ybenw, 9Cers

(D)  Aenar sibenwo, AanpGCrmi

a1, When was the slogan ‘garibi hatao’ (Removal of poverty) was raised?
(A) IFive Year Plan
(B) II Five Year Plan

(C)  1II Five Year Plan

j IV Five Year Plan

‘augewaw @flGurd’ aayb Garagd eri@uUmeps) erprutiL L g)?
@) 1 gpprant Hshed

B) I phsrar® HLgdd

(C) I gpsrem® S s

D) 1V ghgran® Sl

FAGST - 14



32.

33.

34.

In which year in India the coalition governments came into being in the states

(A) 1956 - (B) 1962

\M 1967 D) 1971

@pHwrefe wrhlomsafle sal L afll & poL (pOD&EE ubs 24 (h
(A) 1956 : (B) 1962
(C) 1967 (D) 1971

The comptroller and Auditor General of India is appointed by
(A)  Governor

(B)  Chief Minister

W President

(D)  Prime Minister

Qb 218 sanéEGS Sl dens ST wWmre FlwblésluGSpmi?
&) pEnph

(B) (PHVENDESFT

(©) Bywys smeoeu

(D) Qpswi

The Central Administrative Tribunal was set up in the year

(A) 1982 ' va/ 1985

(©) 1987 (D) 1991

wsHw Hireunasd STiLmubd 2 (Heurdsiiul L pa@m[H
(A) 1982 (B) 1985
(C) 1987 (D) 1991

15
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35. International Buddhist Conclave 2018 was held at

\/ New Delhi (B)

Mumbai

(C)  Lucknow (D) Patna

sTeuGss Usseow s (hens 2018 @pdureila amie e Qupng)?

(A)  yggleal (B) U
(C) osGarr D) umem
36. Which of the following country unveils new organ donation plan to Indian origin?
(A) USA
(B) UAE
% UK
(D)  Russia

Spaud appr®, @pHw aubstaialllarmasar ‘2 L 2 puy sran S sos Qsran®) abgierars?

Q) @sfu SQwilssT
(B) msflu siry oibysbd

©€) padlu @rrgriisnd

D) - @requn
37. World Humanitarian Day is observed on
(A) June 19 ' (B)

% August 19 (D)

2 @& weallgmiwrer Hand sesfsslUGL HreT
A)  gran19 ®)
©€) sevl 19 D)

FAGST 16

July 19

September 19

goeme 19
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38.

39.

40.

During the time of Quit India Movement, which viliage people attacked a prison and
released all the prisoners in Tamil Nadu?

(A) Palam
Tiruvadanai

(C)  Vadugapatti

(D)  Uttumalai

sullpssdla) per_Qunm CGeuarenarwCer GeuaflGum @wést CumymL sl aps Srrwsamear Caibs
a6 g Hevpenws snédl enadaamer el Halgseani?

A) - e
(B)  dmeur_aner
©) apsuliy

(D)  saggoeme

In which place Marudu Pandya built a mosque?
(A) _ Tiruchuli (B) Sivagangai
Narikkudi (D) Udaiyar palayam

LD(Th& LI TanTle LIGHT GT1h& @L_g,gld;m@‘é,]@mm &L g et ?
(A Hmsay B) SHasrnas

(C) milésly _ (D) e eLwnm uremeTLILD

‘A uniform measures of autonomy shall be granted to all provinces’ — Whose principle is
this? _

(A) Syyad Ahmad Khan
(B)  Abdul Rahman

% Muhammad Ali Jinnah

(D)  Habibullah

‘@CU wrdflwmer swr 8 emeandg) wrHlemsErsEh aupnis Cauam@in — @&dardrangamiu g diueu
wm? '

(A) @swug ssLFGSTET

(B)  =iLgd ranwme

(C)  psdwg 260 e

D)  anGyéenr

17 FAGST
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41.  The perimeter and the area of a semicircle of radius 14 ¢cm is

(A) 36308 VM 72 : 308

(C) 308; 36 D) 308; 72
14 Q.15 ypaparer Sieny el LgHlen apmere| wHmid LFliLeTey wparnGu
(A) 36;308 (B) 72;308

(C) 308;36 (D) 308; 72

42.  Find the missing figure

9% of ———————= 63
(a) 60 \/ 70
(© 80 ' (D) 65

eS(RLILIL L GTERTENGHT &T6RTS
Bev 9% = 63

(A) 60 B) 170
€ 80 | (D) 65

43. (0.85% of 405) + (2.25% of 550) = ?

(A)  13.8175
\/ 15.8175
(C) 14.8175

(D) 15.7150

(405 @ 0.85%) + (550 @é» 2.25%) = ?
(A) 13.8175

B) 15.8175
(C) 14.8175
D) 15.7150

FAGST | 18



44.

46.

When was the Crop. Insurance Scheme introduced?

(A) May — 1985 Mpril — 1985

(C)  June — 1986 ' (D) December — 1990

eri@umpg LT smUSEE Sl b @flpstiu@ssul L g)?
(A) CGuw-1985 (B) egé—1985

(C) og%er—1986 (D) ge&bur-1990

During the 11t Five Year Plan Indian GDP increased by

(A)  5.4% W 7.9%

(C) 7.6% D) 7.8%
11-eugy) mimgran® S srasdd Qndureier 2 6 pri® 2 hHugd Qumswu sseisn
(A) 5.4 B) 7.9

C) 7.6 D) 7.8

What did the Indian Planning Commission strongly recommend for the agricultural sector?

M Government should invest more in agriculture

(B)  Government should invest less in agriculture
(C)  Government should invest moderately in agriculture

(D)  Government should not invest in agriculture

@ Sl G B8 2(p&sors Ceuarmaraid gamned@ celg Liflbgienn eremer?

(A)  aweriad GCeuermaenin glanmée 2186 (psedH Cauwiw CeauarBib

(B)  @yeriab Geuerrameno &enné@ @mnbs 2larey (pse(H Gauwu Geuer(Hib
©C)  aperiugb Ceuarramenio ganmae HHST Aerelld (pse[H Gauwiw CauetrHib

(D)  epermisb Ceustramentn gemmuiled p&ed[H Caiiw gL g

19 FAGST -
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47. Ro—Roisa

y Ferry service

(B) Helicopter service
" (C) Train service
(D)  Ship service
Ro—-Ro erémuig) e
A g Gurré;@euﬁ;é@# Geeneu
(B) GQaendlariir Curé@euyss s Caaa
(©) pulle CunsEeursg s Caama
(D)  shue CursEeairss s Caanaeu

48. The winner of French Open Tennis 2018 in Men's singles is

(A)

(B)
(©)

Roger Federer
Dominic Thiem

Ivan Del Porto

‘y Rafael Nadal

2018 9yepa guen GLanaflen @y 6uT @nemwT UL L Geng Qeusmmeui

(A)
(B)
©

@)

FAGST
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49.

50.

The compound which is called ‘Common salt’ 1s

‘/ NaCl (B) CaCl,

©) AICL (D) LiCl

Qurgieuns o Uiy eremenp&sLIUBL G 6rg)?
(A) NaCl (B) CaCl,

(C) AlCI, (D) LiCl

The chemical name of ‘Vinegar’ which is used as preservative is

(A) Formic acid (B) Acrylic acid

/ Acetic acid (D) Maleic acid

o awrey) QUL semer QaL e ungsrsED ‘efeafat earuger CeuHuuuwit eranen?
(A)  Summflé ouslen B) osflds b
(C) =élys subleb D) weuls sbled

As per Bronsted concept, acid is
(A) accepting a proton
(B) accepting an electron

(C) donating an electron

M donating a proton

@resaiv 1 el Sluflen Lilg., SiSleLd eTremg)

(A)  emyCrriremer QupmsQsreardng
B)  omaesigreaa QupnsQsTadng
(©) @meaes_greaear cupn@dnsg

(D) emyuCrmLtemen cupriEdmg)
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92. Name the President who sworned I.K. Gujral as Prime Minister in 19977
(A) Neelam Sanjeeva Reddy
(B) Sankar Dayal Sharma
(C) o Ghiyani Jail Singh

M K.R. Narayanan

1997 eutb 8.6s. GRITIEESE Wrsw widflwrs’ ugelit Grwrend Qelg @SS GlgWissd
ganaaufler @uuwim 24GLD.

(A) B gepfall Qi

(B)  shsT swmer siwm
(C) duraf Ggmuie A
(D) GCs.yi. mrymwewren

53.  The Widow Remarriage Act was passed in the year
(A) AD 1846 va( AD 1856
(C) AD 1870 (D) AD 1891

eflgeneuaaT minené L 1b HleppmGaummriur L sy ewr(H
(A) &9 1846 B) £19 1856
(©) &9 1870 ‘ (D) #£9 1891

54. Who was a Women Minister in the Rajaji Ministry of Tamilnadu?

vpﬁf Jolts Varkebookalun

(B)  Sarojini Naidu
(C)  Sathiyavani Muthu
(D)  Muthulakshmi Reddy

gragmagludler g,:.ﬁ@é SiemFerTamaudle) @ mbe C LT S@EST WiTi?
(A)  Cgrd QumsLrsan

B)  #Crrglafl pry®

(C)  ssdwaurenfl (pés

D) izl as Qg

FAGST 22 A



55.

26.

Find the C.I of Rs. 15,625 at 8% for 3 years compounded annually

(A) 5058 (B) 3058

\/ 1058 M) 6058

15625 &@ opan® el 8% el arafler 3 yamHaEnsEs sal () eully STawrab
(A) 5058 (B) 3058

() 4058 " D) 6058

In how much time will a sum of Rs. 1,600 amount to Rs. 1852.20 at 5% per annum

compound interest?

(A) 1year (B) 2 years

Wi}years (D) 4 years

em. 1,600 yangy 5% e sal () culy. 6Sgd Qaran® crgseoman e Bsaflad @, 1852.50 @7
(A)  lamrbd (B) 2eumLd

C) JaumLbd (D) 4 e

At what rate per annum will Rs. 640 amount to Rs. 774.40 in 2 years, when interest is being

v( 10% (B) 15%

C)  20% D) 25%

e 640 yans) @ran(h parGsailer sl HEOsT@s 5. 774.40 GD. amL( Wly eSsLD & et .
(A) 10% B) 15%
(C) 20% (D) 25%
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58. Consider the following statements with reference to the ocean food :
(1) | they have amino acids
(ii)  they are a better source of Vitamin B-12
(111)  they are high in cholesterol
(iv)  they are improving body metabolism
Which of the statements given above are correct?
(A) 1,11, 11 (B) 11,11, iv

© i, i, iv \}f % i 1

FL@ 2 ave| LgTiturs Qer(ésluul iy mEELD ureshsman shssd Qardns :

(1) SBCan Sl risamar Qe (hédenms ‘
()  eweul e B-12 aupriigauded WP&EI SHTTONE 2 6Ters)

(1) Q@eeser Aanpliy 64 GBS ETeTS)

(1v) oL Qusssas CobuBssdns

CuCo GAUALL eursdlumiseaile erg sM?

(A) 1,11, 11 (B) 1, 1ii, iv

(C) i1, 1v (D) 1,1, 1v

59.  Arrange the salt dissolved in the sea water in descending order :
(a) Chloride, Sodium, Sulphate, Magnesium
(b)  Sodium, Sulphate, Magnesium, Chloride
(c) Magnesium, Sodium, Sulphate, Chloride
(d)  Sulphate, Magnesium, Sodium, Chloride

v a B) b

C) ¢ (D) d

- sl Bifle senbaidter 2 Liysamer @piig euflesude) euflansu Dézis :
(@)  ECemer®, Camquwibd, s0Cul’, Guéaféib
(b) Gamigwib, g, G@&Gﬂ?ﬁmm, @Cermeny(®
(c) Quaafflwib, Gamgwib, saGur, @Garmmeny(®
(d) eaCul, Qusaifiwb, Comguid, @Gammeny()
@ a _ B) b
© c (D) d
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60.  The proposed period of the launch of the Satellite Chandrayan — I1 is

MJanuary 2019

(B) dJanuary 2020
(C) January 2021

(D)  January 2022

ghglygmwen — I QewpensGarer ellareaniich ereu SO Oul Dérer smetb
(A) gemaufl 2019
(B)  meweufl 2020
(C)  geaweu 2021

(D)  gaweud 2022

61. A Delhi govt official bags WHO award for his extraordinary contribution towards

\/ Tobacco control

(B)  Eco control
(C)  Traffic control

(D)  Service for differently abled

2@ L6l e ST Qésmansinsns staCse ssrany Hneuear of(mens O eusnmdrarTi.
A) yeslloel Lpsssmss s HULGSHUSHETS

B)  spmé @ggsb dlyélenensenars s (HLU{sSWUsSHETS

(C)  CGuré@eurss 98 Bnaamer sL_HULGSHLSHSTS

D)  wrpms Hperrafllsens@ Qsis Comaibsans

A 25 FAGST
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62. Mitochondria are known as “Power houses” of the cells. Because

%they supply energy rich ATP

(B) they supply enough CO, to body
(C) they protects cells from photooxidation

(D) they act as autophagic vacuoles

awl_GLrsrang furésmer gar 868 (dag) BLHme eSHET cranm SenpésliuGEns)?
A) sadflés ATP GO UGS

(B) Gémsuu_lrrw CO, aupmi@Geugme

(C) qefledlamsalled(mbg Qease LTgSTULSTED

(D) seemanggnCen Heanad @O Plsamas dewdufeugme

63. Gametogenesis is the important event of sexual reproduction in any organism. Which of the

following type of cell division controls this process?
(A)  Mitosis
(B)  Amitosis

/ Meiosis

(D) Binary fission

Gabl(aer o (haungeag smelflas Qumsssdar @m wsiu Hape). Qaupmp s_HUUBSHID
Qg Qfley euans ergy?

(A) el Lmenllen
(B)  eremol_L_menSlev
(C) Bwmredev

(D) @rieL Gley
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64. it X =i, then the value of (i+ 2y_x]is-
y 9 2y +x
3
A s
A) 7
@ L
7
£=i ereefley £+2y—x 6 gLy
y b 7 2y+x
3
A x
(A) 7
: 1
C 1—
©) 7

65. How many %'s are there in 37% ?

\/ 300

(C) 500
T LT ki DAY
375 aren erarantled eTdHEmenr T 2_ememeu?

(A) 300
(C) 500

66.  Simplify :

x + y? x“+y
- 1
C x-y i
© a5 O =
&E(HEHES -
ol - ¥
oyt xt _
xX+y 1
A B
@ x* +92 ®) x*+y
- 1
g et D
© x? + y? o 2 -y
A - | 27

i

D) 2

(B)

@)

(B)
(D)

B)
(D)

400
600

400
600
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67. UDAY scheme is related to

(C) Drinking water
(D) Education

2 s (UDAY) £l_Lib sbupSILLSalg WIS
(A)  Bensmmd

(B) quleCGeu

C) Gy sewei

D) seed

68.  Which system of medicine is not included in AYUSH mission?

L Unani

II. Homeopathy
III. Allopathy
IV. Siddha

i aud i ®)

\/ 111 only (D)

‘@pujey SILLsH @)L 1b QUPTE HSSIe WPemD 6TE7?
L. wenrrefl
II. CapmslGuirud

.  sCeamus

IV. &gsr

A) I opmo III (B)
(C) III wi®w - (D)

FAGST 28
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69.

Name the river which is contributing more than one third of water supply to our country

(A) - Krishna

W Brahmaputra

(C) Ganga
(D) Godavari

BLb B igen i uiiseliGed epanble e unifhEh ig&nns PR Sphbler GLILIT eTemen?

(A)  Slmagaurm
(B)  QAmbwugym
(C) smam

(D) Cargmauf

Which River is known as “T'sangpo’?
(A) _ Ganga
x Brahmaputra
(C)  Yamuna
(D) Godavari
‘eralun orar oifluiuBib Sy eTg?
(A)  smar
(B)  dpbwysHym
(©C)  weparr
D) Cargmauf
Black soil is otherwise known as '
(A) Saline soil ngur soil
(C) Swampy soil (D) Arid soil
&Ml &6 Loagr erenmitd MlwiuGEmg).
(A) e euirliLy oesr (B) Gygaarm wetr
(C) ey wer (D) eumenrL et
29 FAGST
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T2

73.

With which of the following Indian State the Behdienkhlam Festival is associated?
(A) Assam |

' \/ Megalaya

(C) Sikkim _
(D)  Arunachalapradesh

Quenywensmbd odpr Ardwureder arps LTHSCETH QaTLimLwig)?
(A)  evenrd

(B) Cuwareowr

(C) Hadlb

(D) ‘ a@mné&m |51|J(3;55LE

Which of the following is India’s first- energy efficient railway station?
(A) Mumbai

(B) Thane

(C)  Delhi

M Kacheguda

WewmeumeuameummieT @bElwinellar 1psa phpad AnarBgsiiuL @ruied Hleveuwibd erg?

(A)  qpenu
B) snCer

©) Qrae
D) &5Ces@Lr

Panini Language Laboratory is inaugurated at
(A)  Maldives m{auritius

(C) Madagasgar (D) Myanmar

unaflafl Al Qeusd BT hsuulL BT
(A) wresSasdr (B) GQuwrflaflwen

(C) vLsmasT (D) Bwremof
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75.

76.

Bharathi was the editor of

(A)

(B)

from 1905 to 1921.
Manonmaniyam

Bala Bharathi

% Swadesamitran

(D)  Young India

1905 g 1921 euenty UMy
(A) wCarmranoenflwib

(B) ure unmdl

()  sCssfsSyan

D) ‘wi @ndwr’

Collector Ash was shot down by

(A)

B)

V.V.S. Iyer

Natesa Mudaliyar

ererm ugSNseosudear uduurfNwgrs QEHbSTT.

— at Maniyachi on 17t June 1911 in Tirunelveli.

Hm@peCaielufgyerer wanflwréude 1911-b syarr® gOen 17-1b prer wreul L U Swim 6q Sieor

A
B)
©)

(D)

erenieurmed &L(hg Qameveo il Lm,
V.V.S. enwswr

BCL& @geﬁ]u_mf_r

M.C. grggr

QUITEH&I BT 6nT
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78.

19.

The area of a circular field is 13.86 hectares. The cost of fencing it at the rate of 20 paise per

metre 1s
(A) Rs. 277.20 \/15/ Rs. 264
(C) Rs. 324 . (D) Rs. 198

@@ ulL auge daaflllen uptiuerey 13.86 gési. erafle, @ BLLTHE 20 must g Si@s sH
Geuall-CGuimrL <@ aflane

(A  .277.20 B) . 264

©) e 324 (D) w198

One side of a rhombus is 10 cms and one of its diagonals is 12 ecms. The area of the rhombus

18

(A) 120.sq.c.m MQB- sq. ¢.m

(C) 80.sq.c.m (D) 60. sq. c.m

M prHegTsSen m ussid 10 e LHmID FemLIW @@ eaeill Lib 12 Qa8 s1i) sgrsdlen

UrUUeTe) ———————— DG
(A) 120 Q&8 _ (B) 96 Qa5
() 80QedS’ (D) 60 Qas.5

The ratio of the area of a square of side ‘a’ and equilateral triangle of side ‘a’ is

A 21 B) 2:43

€ 4:3 M:}t;ﬁ

‘a’ ussd erar. @m ssTsHar urlueTey LHMD ‘A’ LESD CQerarmL. sOLES WECararsden

urtuere)-seflen 698 ghH —————— @b
A 21 B) 2:43
(C) 4:3 D) 4:43

FAGST | 32 A



80.

81.

82.

When was the Tamil Nadu industrial guidance and Export promotion Bureau established?

A) 1991 1990

(B)
(C) 1989 M 1992

SUBIDHTL 1g.6b eThg pent(H) Wgrifler euflam g wpmib gnmind Cubur® mwliy Asrmslul L g?

A 1991 ' (B) 1990
(C) 1989 (D) 1992
As per census 2011 there were ——————— lakh disabled persons in Tamil Nadu.
(A)  24.34 lakhs (B) 23.28 lakhs
W 16.42lakhs (D) 20.181akhs

2011 e wasdr Qsroms SeTEASHIIN ug sOPHMiged wrom Hpeamaisefler erarendans

HEL0. _
(A) 2434 wlsbd (B) 23.28 el _s1d
(C) 16.42 al &b (D) 20.18 wl s
Expand NSC

(A) Natural Seeds Corporation

(B) National Social Committee

% National Seed Corporation

(D)  National Social Control

eflfleurgaid Hma. NSC

A) Quims ellamgasar L&D

B)  Csdlw saps @ -

©) Csélu g sipaDd
(D) Csélw Fops a_Hur(
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83. Chabahar port was developed by

% Iran, India and Afghanistan

(B) Iran, Iraq and Afghanistan
(C) Saudi Arabia, Iran and Iraq
(D) India, Bangladesh and Srilanka

sLnsi FmDP&LD @ HHT(H&EeTTe 2 (HeurssIuLl L g)
(A)  rymes, @BSHluwr LoHmID slignaflevgmen

(B)  myme, FFIIH';F}B WwHmID ylisreaflevsmer

(C)  sepd oCrllwm, Frymen HMID FFyTE

(D) @gﬁmn, umsCHFD LOHNLD GlOmIEns

84. Where was G7 summit held?

(A) Montreal _ Auebec

(C) Paris (D) Washington

G7 2 &8lompr(® ermiig pen_Quhmg?

(A) e Mwe B) swlus
(©C)  wumflen (D) aurélien
85. Zojila project is associated with
y Tunnel (B) Forest
(C) Energy (D) Recreation

Gemgleor S 1b @seayLar gTmyen_wig
(A  Emsures B) &rH

©) oo | (D) Qun@@@uné;@‘
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86.

87.

Which of the following devices makes use of piezo-electric property of a erystal?
(A)  Wall clock
(B)  Atomic clock

(C)  Electronic clock

M Quartz clock

R U555l ghuBiD (pss-L0er aflenerays Qamdreansamu LWL HSHID Shedl 678 ?
(A)  seud SigsTrb

(B) sigm& suanyb

(C)  Werengns sigamyd

(D)  @eurilev sy&TID

What is an aplanatic lens?

(A) A lens free from coma

W A lens free from spherical aberration and coma

(C)  Alens free from spherical aberration

(D) Combination of two lenses

SUdepriiy s (Aplanatic) Qeans erenmme eremen?

A)  Garor Qaans Qeers

(B)  Garer augau @emurBib, Camoreyd @deawrg Qaers
(C)  Gsmerqugeu @epur® @oors Heans

D)  Am Qeassaflen snlLenwliyy

35
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88. Name the economist played a leading role in the Second Five Year Plan.

Jaya Prakash Narayan

y P.C. Mahalanobis

(C) J.C. Kumarappa
(D) Dr. William Gadd

Grem_reug ghsTads ALz o pard@Gaided (pasflu umsthiluw Aunmartsy Coms Guweay
GO HS.

(A)  Quudlrsey HIyTLIERHTET

B) 9.8 wasorCrmlen

(C) Gg.&. Gwriur

D) pewensur afléellwid sm

89. In which year the name ‘Neethikkatchi’ was changed into ‘Dravida Kazhagam’?
(A) 1935 (B) 1949

(€) 1929 V‘f 1944

T e () ‘BHssr 8 ‘Syredli &1a&’ eren GuwiT wrHmd Qe L g?
(A) 1935 (B) 1949
(C) 1929 ' (D) 1944

90. Who was the Eleventh Prime Minister of India?

(A) LK. Gural (Deva Gowda

(C) Atal Behari Vajpayee (D) V.P. Singh

@ndureilen LHCarmymeug Arsw wHHAwrs Qb euT wrT?
A) 5.Gs @yrre (B) Cseusanr
©) = Qs eurguimi (D) &89, S
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91.

92

q-l-

93.

There are 5 oranges in a basket of 25 fruits. The percentage of oranges is

(A) 5% B) 25%

©) 10% vﬂ!( 20%

@ smenLulgyarer 25 Liprigafia 5 %U@&Cj LphiseT eTafle) 2y TERaU Upkisaliear sgaigin

A 5% (B) 25%
©) 10% (D) 20%

The discount is always on the

% Market price

Cost price
(C)  Selling price

(D) Interest

sem@EnLg. aratug ———— ufldn 185 samédlLLuBeugnEd
A4)  EdEs dow

(B) oLss e

(C) . pueear G{ﬂe;ma)

D) ey

—— =Market price — Discount. -
(A)  Cost price {Seﬂing price

(C) List price , (D) Market price

= ®f5s oflne — per@sLy
(A)  oLés leva (B) eflpueer eflenew

©) ulgwe fena (D) snews eflena
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94. Who headed the interim cabinet formed in the year 1946?
(A) Sardar Vallabai Patel
(B) Rajajn
Jawaharlal Nehru
(D) Rajendra Prasad

1946 & QanLsane remmssdnE semaeo eudlggeurm wmm?
(A)  srsnteueumi uGL®

(B) Urrgrr@

C) nausterd Crm

(D)  Cxidly Yrsrs

95. Which of the following Article provides for an independent Election Commission in order to
ensure free and fair election in the country?

Article 324 (B) Article 234
(C)  Article 143 (D) Article 243

Briige sspdromer wHmb papura Csisd bLssasnE sspiyora Gsisd p@amulb
Geuanr(Rbd eranm sualluymsgid s L fldl Epsasaeubhmier 67g)?

A) - 324 (B) o0 -234
€) off-143 (D) o9 — 243

96.  In India 75% of the Marine Fishing is contributed by the region of
(A) East Coast |
(B) North Coast
(C) . South Coast

\x West Coast

Qngwrelles 75% aL_e em g nile Lnisafls@n LG
A)  Spas sLpsarl uEd
B) e b6 sLpsoor LGS
(C) OppE s _bhemyl Lgd
(D) Cuwne s_pseary UG
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97. India’s first scientific and modern Wildlife genetic resource bank is initiated at
(A) Tiruppathi

(B) Vijayawada

W Hyderabad

Vishakapatnam

@pdwreder wad Sifleflwed wieuwrer peier euear 2wl wruay aar aubdl LsTmsLUL (e
B '

@)  douud

(B)  eflggwieumm

(C) eangrTurg

(D)  eMersiiuigenbd

98.  Who developed the World’s first Hindi Speaking humanoid robot?
(A)  Akshay Venkatesh

(B)  Bhanita Das

WRanjit Srivastava

(D) Avi- Goel

2 awdlen, psd @BS Aumyg Cusd wells o m Aarar By Laflgamar e (Haursdwaur wr? |
A)  osayw QeunmsGLaey -

(B) usdﬂgrr BT

C)  1epdls feugeveum

(D)  =e9- Camuiew
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99. Pedogenesis refers to

(A) _ Soil sedimentation process

W Soil forming process

(C) Weathering process
(D)  Eutrophication

SCLrQnafledsy arenss @DHUCGHEDG ?
(A) GUEBITL 6D Lilg QU
(B)  wawr 2 (meuneug)
©)  dwgyo Hapey
(D) mrhEL Curga

100. Discovery of ——————— instrument revolutionized in the field of genetic engineering.
(A) Electrophoretié apparatus
(B) AAS - Atomic Absorption Spectrophotometer
(C)  SEM - Scanning Electron Microscope
PCR - Cycler

e Smedludlen ser(® kg Ly e Ll Seaw o uli Asmfléd mIusHd o maunsdug?
(A)  aes  CrrCunillyé oiuGrLev

(B) AAS - @il L8 sitevniriiget sn@uat Cpm GI_IITI'_GII_ITLBI'_I_I'T

(C) SEM - evGaefim erevd_gren mmd;@mra’u@a;_nu

(D) PCR - anssanr

101.  DNA transcribes different types of RNAs. Find out the coding RNA.
(A) tRNA (B) rRNA

W mRNA (D) snRNA

DNA QaueuCGeaumy euenswiren RNAamer cuiqeuanngs) 2 meuns@. sifle g (Comgm) RNA erey

Quwr?
(A) tRNA : (B) rRNA
(C) mRNA (D) snRNA
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Find — of 23
V. ®
© o ® =
ig L -crie
@ 5 | ® -
© 5 ®

103. Leela reads i of a book in 1 hOL_n'. How much of the book will she read in 3% hours?

(A)

v’

(B)

)

®w|~a oo
| oo

der 1 wenfl Crrsde :11 UGS @ LSSEEMS LIgSSMe, 3% wenfl Crrsdle ereucueatey LGS UIG.&s

WPluyb?
6 5
@ 3 . =
7 4
< g D) <

104.  If 5x* —13xy +6y*> =0 then x: y is
(A) (2:1)only B) G:3)(r) 1:2)

©  (3:5)only vm’ 3:5)(or) (2:1)

5x% —13xy + 6y =0 erafled x : y e clllHLd
A  (2:1)wlEb B) (5:3)(or) (1:2)
(C) (3:5)wl @b D) (B:5)(r) (2:1)

A 41 FAGST
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105. The sum of the series

1+3+5+ ... to25 terms is

A) 600 \/ 625

(C) 650 " (D) 675

1+3+5+.... 25 2 plysar euany 2_drer Lgr_fler gaBHge

(A) 600 (B) 625
(C) 650 (D) 675

106. Find out the wrong number in the sequence
125, 127, 130, 135, 142, 153, 165
(A) 130 B) 1

42
) 153 \ﬁa‘f 165

125, 127, 130, 135, 142, 153, 165 aregb cuflensuiiehr seupmen eremr Grews.
(A) 130 (B) 142
(C) 153 (D) 165

107. In India, carbon tax is imposed on

I. Gas

1. 0il

L. Coal

(A) Tonly : Vaﬂn only
(C) 1l and III ' (D) IandII

@pdlwrellen, aflw aufl ergen By awssLILL (HeTerg?

L erifleumuy

I1. eresT (ol Gmri

[  Heossf

A) Iwoi@wo B) I vl GHio
©) I wpyid III (D) Twpmyw II
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108. Match:

(a)
(b)
(©
()

Aphelion
Apogee
Perihelion

Perigee

(a) (b)

. s

B 1 2
€ 4 “'8
D) 3 2
@ulrr@gg,;& :
(a) vadedlwen
(b)  iCGurg
() Quflabedwien
(d Gufg

(a) (b)
(A 2 1
B) 1 2
C) 4 3
D) 3 2

(c)

(©

(d)

(d)

The moon for away from the earth
The earth for away from the sun
The earth _close to the sun

The moori close to the earth

Blovay Lludd @mmg Gareanaaiie @ mLiLg)
L) @IﬂuJGDﬂE;Lb @ (mHgH Ggrenaeller @ mLiLg)
Ll @&MwenisE Simarewuied Qmuug)

Hleva| LBléE dmaraouie @ muug
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109. Which of the following Indian State has the World’s first- ever thermal battery plant?
(A)  Tamil Nadu :

Andhra Pradesh
(C) Karnataka
(D)  Kerala

&1 2 eiren ereuaflpw mbled 2 dler apped Aeuliu swen $i( &G AaTdossams Guppdrars)? |
@A) e

B)  <enpdribrCssn

(C) simmLsT

(D) Gsyerm

110. RIMES (Regional Integrated Multi-hazard Energy Warming System)is associated with

which of the following State?
(A) W.Bengal um,odisha
(C) Andhra Pradesh (D) Karnataka

eerdoarss Artse udais @u_lg')a.)a; EDp DM erdsfléms evwib Siamwhgierer @ndw wrlab

aTg?
(A) Cope euksrarnbd (B)  qugevr
©) <pHru9yCsen D) sipTLsD

111. Which of the following is the largest milk producing State in India?
(A) Madhya Pradesh
(B) _Bihar

f Uttar Pradesh

(D)  Uttrakhant

Yereumeuameupmier e Lne 2 UGS Qainyb @pw wrflew erg?
A)  wsHw 9rCGssibd

(B) Saemmir

(C)  288m) 9rCgsid

(D) e sy
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112. The medicine for Typhoid is
(A) Chlo_roquin

B). Vitamin A

M Chloromyecelin '

(D) Sulpha-drugs

@LUMIE sméglern bmbSer QUL
A)  @CamGrm@ulen

B) AL iflear A’

(C)  BGamCrreniodlede

D)  gumgréev

113. Which Englishman defeated Pulithevar?

Sir Eyre Coote

w Captain Campe]l

(C) Major Banerman

(D)  Cornel Jackson

q@ﬂgcgmmu Campaiq5s 2pmflCawr wmi?
(A) & Swit sal

(B) G;;;ihl_s'm G&&Q@ué}

(C) Cugfruren@er

(D)  amitaed gmrdsae

A _ 45 FAGST®
: [Turn over



114. A rectangular tank contains 2340 cu.m of water. What is the depth of water in tank if it is

15 metres long and 13 metre wide

(A) 10m (B) 15m

(C) 8m V!fmm

@ Gecicuss Aamiiguile 2340 m? eate| gamalt 2 daeng. wsQsTguler ferd 15 m, &b
13 m crafler, yp1b ereven?

(A 10m (B) 15m

(C) 8m (D) 12m

115. Find the volume of a cyclinder whose height is 3.5 m and diameter of base is 4 meters

3 (B) 22

(A) 3
W 44 D) 55

@ 2 (peverulen e wiyb 3.5 m, el L1b 4 m eraflé 2 (heneruiien ar ojeTey FTETS
A 33 (B) 22
(C) 44 (D) 55

116. A wheel makes 20 revolutions to cover a distance of 66 m. Then the diameter of the wheel is

m

‘/ 1.05 (B) 1.04

(C) 1.03 ' (D) 1.02

@@ wepndlar #6570 66 5 Agrareey sLss 20 sppsad spdlamed oéessrédlar el Lib

5 SGLD
(A) 1.05 (B) 1.04
(C) 1.03 (D) 1.02
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117.

118.

119.

- Which of the following is not a service?
(A) Communication
(B) ., Banking and insurance
Agriculture

(D)  Transportation

& Qarssul_Heraraupbler Camal Dienss) 6rg)?
(A)  ssad Agmiy |
B) ard-srud® uaflser

(C) Caermawreno

(D) Cura@eauyss

As on March 31, 1990, the growth of investment in public sector in monetary terms was
(A) Rs. 75, 860 crores
(B)  Rs. 68,991 crores

Rs. 86,000 crores-

(D) Rs. 89,000 crores

31 worrivg 1990-6m Lig. Quing) gl Hipeuarsdlen apgal () aueriéds] Lemr wdlbla
(A) . 75,860 Camg
(B) e 68,991 Gamyg.
(€)  .86,000 Caimg.
(D)  em. 89,000 Camig.

The major method of disinvestment used in India is
(A) open auction sale

(B) . public offering

% strategic sale

(D)  coupon method

@pdureile Qurgsgeny LREGsmer GUmLeTedld eflhe LwWeUHSSLULL AP
(Ad) Qeueflliuen_wimes geob

(B) Hops dauefl smismgsafien sllbme

(C) Csirey Qewg Ayeuargdne edlbhmed

D)  smluen wperm
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120. ‘TESS'isa

(A)  polestar

j space craft

~(C)  comet

(D) sensor

‘TESS’ areinLig) e

(A sme: plesdmd
(B) eewrGeuefseid
©)  euréd pUssHd

D) 2ewried

121. Eliud Kipchoge, the winner of London Marathon Men’s title 2018 belongs to

(A) West Indies

M Kenya

(C) Canada

2018 qwanrLeir orysgren awsar Afeller Qaupd Quipp @elluys HIGsnCs QBB FrihHgHeuT
A)  CopdpdHu Soyser

(B) Qsemnur |
(C) sern

(D) 0wLEs psdu HIE
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122. The rate of diffusion is large in

W Gas (B) Liquid

(C) Solid (D) Metal

efllyeuéd aflfls b éﬂﬁa&mrr&; @(m&@W Qurmer erg)?
(A eumy (B) ®rwibd
(C) HruCumrmer D) o Garsd

123. The rate of cooling of a body is proportional to
(A) difference between initial and final temperature
(B) final temperature

M mean excess of temperature

(D)  initial temperature

e Qunmafler Gaflite eN&lz0 2 _GTeng).
A)  pybu wHPb @od aiuflee Cagur®

(B)  @ud davuflae

©) @rarghEo Copul L e Qeauliub

(D) by Qeuliub

124. What is the unit of momentum?

% Kgms™ (B) Newton

(C) Kgms - _ (D) Kgm's™

Qwés zeredlen i@ Wg)?
(A) Kgms' _ (B) Huyien

(C) Kgms (D) Kgms™
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125.  The society for the propagation of the Gospel founded in the year

(A) 1698 (B) 1713

j 1701 (D) 1676

gflevgeu pp@aflew Sipflw prEseafld Ly shsn Bnpeiul L @
@A) 1698 ®) 1713
(C) 1701 (D) 1676

126. When was Dr. Muthulakshmi Reddy, nominated as a member of the Madras Legislative

Council?

A) 1931 (B) 1950

W 1926 (D) 1948

g et (h LISLIT (pSgide sl Qg Gl rrey & tgemuuda 2 glideamrsiulLmi?
(A) 1931 (B) 1950
(©) 1926 (D) 1948

127. ‘Garibi Hatao’ means
(A)  Destruction of food crop-
(B) Diffusion of knowledge

% Removal of poverty

(D)  Eradication of illiteracy

‘&MQ amgnGeur’ eramuigan Clmmer
(A) e areyl LuliTaenar AP S50
(B)  sseud oyley uyliysed

C) ghevawu NsHHsD

(D)  sdarmwau gfissd
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128. The smallest number by which the number 108 must be multiplied to obtain a perfect

cube is
/ 2 (B) 3
) 4 (D) 5

108 g eribs Sl eresmamtimey G]u@é;aa (P(PSSHERTLD LD
Ay 2 B) 3
C) 4 : D) 5

129. The number of zeros at the end of the cube of 100 is

A 1

B) 2
© 4 &

100 erénp ereinenllén sensSd o arar Lguikisaier aremalaame
@A 1 - B) 2
© 4 D) 6

130. 18x14-6x8_,

488 +4 — 20

! 3

(A) 3 (B) 7

w( 2 D) 4
18><.14—-6x8 _—
488+4-20

1 3

A = (B) 3

w 2 (D) 4

A 51 FAGST
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131. Name the dam constructed across the river Mahanadi

(A) Bakranangal W Hirakud

(C)  Krishna (D) Mettur

warrS 2ndler GnEGs s L LUl (Herer enenrudlen QuiwiT erare?
(A) Lné;r;rrr-;aréw;d) (B) afipmeL

(C)  Hmoyam (D) Guor G

132. In India which state ranks first in onion production?

(A) Madhya Pradesh

%Maharashtra

Tamil Nadu
(D)  Punjab

QbHuireiler Qaurismw 2 HUSS Ui 1psa @)L b cudls@Eh wrbleb eg)?
(A)  wsdu WCssbd

(B)  wsmymeigg.ym

©)  sblippr@

(D)  ugpam

133. When is ‘Project Elephant’ was launched?

(A) December — 1978 (B) September — 1997

\/ February — 1992 (D) January — 1996

‘wirener Qewdd L’ eriGuirg awuduBSsLLLLg)?
(A)  gebdui— 1978 (B) Geucibui— 1997

(©)  Qugeufl — 1992 (D) el — 1996
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134. Which of the following has been elected as President of Asia-Pacific Institute for
Broadcasting development?

India
(B) Pakistan
(C) Nepal

(D)  Sri Lanka

Spser  erhprE égpélm—ué]@& Grmplw  gsewd  geflugiy  fpeuer  gmeamLWSLNS

CaithesBésliu_[Herarg ?
A @pur

(B)  undlevgren

(C) Cpumemd

D) Qomms

135. The country which tops in the UN E-Government Index?
(A) Sweden ' (B) Finland

W Denmark (D) England

mmreden §)-oi58 i Leiamarude wpsellb auflsEw B
(A)  @velar (B)  Yeramig
(C) Quemonié (D) @mélerms

136. Umbrella agreement is signed between

M India — Germany

(B) India — France
(C) India-UK
(D) India-USA

‘GoL euUbsD @aalm prHs@Epddam Gu @stlupssrdludrarg.
@)  @sHun - Qe

B) @pHwr - Gyrenen

©C) @ndHwur— mpadu @rrenmhsd

D) @sdHwun - padu CwilEsT
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137. Super phosphate of lime contains
(A)  Ca,(PO,), (B) CaHPO,

(©  H,PO, M Ca(H,PO,),

GUuir urevGuL — epevtd etem 2 TSl BHLLE
(A) Cag(Po-4 )2 (B) CaHPO4
(©  H,PO, - D) Ca(H,PO,),

138. Who are the major primary producers of marine environment?
(A) | Sea anemons
(B) Sea grasses
Phyto planktons
(D)  Zoo planktons

sLe &DY Gpedlen wpger Hlenew swrfliLimeTisear wimaneu?
(A) sl oefCuomer

(B) sLaypsedr
(C) eul CLm9ermriiLensar
(D)  WHgmes Gyrenflser

139.  The total contribution of ATP per glucose oxidized through Kreb’s cycle

‘/ 30 (B) 38

C) 4 (D) 8

20 GEHEGatay drid spHdl wpab AmsssLuLAUTE assmar ATP [EVEL T EFlen

Qarhadme?
(A) 30 " (B) 38
(C) 4 (D) 8
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140. Find the back drop of the Mamallapuram Dance Festival being held in December-January

every year.

% Arjuna’s Renance

(B) Pancha Pandava Rathas
(C)  Shore Temple
(D) Tiger Cave

gaQaunm pamdn yebui-paefilldad wasrudyrsde peLGumn pLag  Hmelpraia
Gevrjedsan 8 ergy eramm sevr (B9,

(A)  rgrare sl

(B) ue@psuna_ou jamiseT

(C) sLmesars Cameilad

D) udsEos

141. The fourth proportional to 0.2, 0.12 and 0.3 is

0.13 ®) 0.15
\}f 0.18 D) 0.8
0.2,0.12 wpmib 0.3 2 epL_w gnmanm@‘eﬂﬁg FLOLD DpGLD.
(A) 0.13 B) 0.15
© 018 . (D) 08

142. Divide Rs. 675 among A, B, C in the proportion of 4 : 3 : 6.
(A) 200, 205, 270 190, 215, 270

(©) 200, 235, 240 vaﬂ 180, 225, 270

m. 675-m A, B, C-&@ 4 : 3:680 affgsdler uhdHs.
(A) 200, 205, 270 (B) 190, 215, 270
(C) 200, 235, 240 : (D) 180, 225, 270

A ' - 55 FAGST
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143. A dice is thrown three times and its three different positions are given below. Find the
number on the face opposite to face showing 3.

A 1

| ® 4
© 5 W 6

@@ usmL gpam (pen e Curg g QeucuCany Blevawadr SCp Qsr@ésiul (drens).

&b 3 sralaEd TGy 2 arer PSS 2 6TeT CTETNT STERTS.

A 1 | B) 4
"(© 5 D) 6

144. The mean of the first 10 natural numbers is

A 25

(B) 55

O 55

| (D) 25
s 10 Quie erewraafien symef

(A) 25

(B) 55

(C) 55

D) 25
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145. Match :

(a)
()
(©)
(d)

(A)
(B)
©)

Grasslands

Prairies

Downs

Velds

Pampas

(a) (b) (c)
4 3 2
3 2 1
2 1 1

Ml 2 3

Cumma s :

LeGeuafl Hlevmser
(@) AQyof
(b) reyer
(c) Qeus_
(d) wumbumrev

(a) (b) (c)
(A) 4 3 2
B) 3 2 1
(C) 2 1 4
D) 1 2 3

Regions

1. North America

&)

Newzeland

3. South America

4. Central America
(d)
1
4
a
4
QyCgemiger
I auL Quflssm
2. Pudens

3. Qe 2 Gwflésm

4. wSHW 2Cwh&EsET

57
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146. India’s bio-fortified Sorghum was developed by

/ ICRISAT - Hyderabad

(B) VNMKV = Maharashtra
(C) IRRI - Phillippines
(D) ADUTHURALI - Tanjore

@QpHureilar s 2 ulfleuerd QeMeay L Liul L Cerertiulenys sar® G 58 Hmeuand
(A)  @aflevr’ — mapsyruns

(B) NerarerbCamed — wanmyrasl_jb

(C) @morsyie - Gelluemuanev

D) Gs@p - séemayt

147. World Hepatitis Day is observed on

‘% July 28 ' (B) August 28

(C)  September 28 (D) October 28

2 @& EHFLFMoTame Harbd asfssiu@ib prer
A) grow?28 : (B) =ysevl 28
(C) GQa&in_bur?s D) =sCGLrur?28

148. Which of the following becomes the 11t Biosphere Reserve of India?
(A)  Nilgiris — Wayanad
(B) Mannar Bay
Khangehendzonga
- (D) Nilgiri

Weneumeuemeummar QbHwrefer 11eug o ulis Camareuatons o mGeu{BEg aTarg erg)?
(A)  Sedlfl - cswsr@®

(B) LDGITEDIITT GUEH (G LT

©C) smuQsaCGLrrisT

D) Sl
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149.

150.

There are 46 chromosomes in a normal human cell, compare to the numbers given below

with the special structures in human body:
(1) Ovum-23

(2) Sperm-46

(3) Kidney-46

(4)  Urinary bladder-23

Which one is correct match?

(A) 1,2and4 (B) 2,3and4

,/ 1and 3 (D) 1,3and4

sngmyenr welsafer GCrrCunGstbsar 46, @UALH @CrmGonGamd urfémsuis Spsar_mel

silwner Gmmyg. oTar sewrsEl (H5.

(1) e (1) aplent-23

@  ofbsan-46

(3) fmbrsb-46

(4)  Ambienu-23

@eunmier ergy) flwins QUITHBSID?

A)  1,2woomb 4 (B) 2,3 womyb 4

©) -1wombd3 (D) 1, 3 womwb 4

The disease sickle-cell anaemia, is caused by

(A)  Iron deficiency (B) Malarial infection

(C)  Poor hygiene y Genes

Hadar Qg Bl erad QrHs GCamens GHm GHUL STTaRTLD
(A  @mby &5 @G@pur B) wCaflwrsmissd

(C)  asrgry Ca® (D) eferaar
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al.

152.

153.

Dilip can reap a field in 9 days, which Ram alone can reap in 12 days. In how many days

both together, can reap this field?

M 51 days (B) 41 days

(C) 61 days (D) —3; days

20 Gaell- g dpaeL Qsiw Fll-6@ 9 prisdr @b, S@sGW, rmb selluns omeamL Qsiiw
12 prisger gy b. @ran® Cumb Ceibsl @iws SinaumL Qsiiu edsmar HrL_sdr 2LGLD?

A) 5% priser (B) 4% prisdr

(©) 61 pmisar (D) -38—6 BILGET

A and B together can do a piece of work in 8 days, but A alone can do it 12 days. How many

days would B alone take to do the same work?

(A) 18 days - (B) 19 days

(C) 20 days M 24 days

@M Caumaaw A, B Gmaimid Caing 8 prisefla wpgiur. A il (b oaGeaumamu 12 B safled
gt B ol (b sicuCouamaaw erdsamar bl saflé apig Liuimi?
(A) 18 mriser (B) 19 mrlaer

(C) 20 mrisar (D) 24 prlsar

What percent is 3% of 5%

A 15% (B) 30%
(C)  40% y 60%
5% Geb 3% GTEATLIG

A)  15% (B) 30%
©) 40% (D) 60%
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154. What i1s CSO?

(A) Central and State Organisation

M Central Statistical Organisation

(C)  Central Scientific Organisation

(D)  Central Statistical Office

CSO eremmmev eremen?

(A)  wsHw wHmID bl Sl
B)  wsHw yarafludue ey
©)  widu sdlafiue ey

D) wsHw yerafufwe SigIeuesHLD

155. When was demonetisation announced in India?

(A) December 31, 2015

uﬂ( November 08, 2016

(C) November 16, 2016

(D)  April 01, 2017

@pdwurede eriGurg ‘Lienr wHUNPLL BLags®ms SDledlsaurL g ?
(A geburdl, 2015
(B)  peutbuir 08, 2016
(C)  maubur 16, 2016

(D) egure 01, 2017

A 61 FAGST
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156.  Which of the following is called as ‘King of Oil seeds’?

(A) Olive

(B) Castor
Groundnut

(D)  Sesame

Epsarm_cupmer ‘eremm@anni 69 sgissafldr sirser ereny SN P&HLILI(HEUF) 6Tg)?

(A)  syelley
B)  wese
©) Pess o
(D) e
157. In which year GST was introduced?
A) 2016 | Ao 17
(C) 2018 (D) 2015

The e #16E wHHID Geaeu cufl (GST) @fapsiiL@ssru L g?
(A) 2016 B) 2017
(C) 2018 (D) 2015

158. The world’s smallest land fern is discovered in
(A)  Thorn forest of Pakistan
(B) Amazon forest

(C)  Coniferous forest of Canada

% Western Ghat of India

2 adlen Wasfflw greuy euens e () Vg ss0LL_HeTer @b
(A)  urdlevsreafler aplysisn

(B)  <=Gwsrer sn(

(C)  asar_nefer earflulenasaT(H)

(D)  @ndwnelen Cuope@ Asmirés e
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159. The frequency of radio wave 1s about ———— Hz.

(A)  10% | M 108

© 10 (D) 102
aumen sjapaudler enaBartd Hz.
(A) 10" (B)y 10°

(© 109 (D) 102

160. If the quantity of energy radiated by the sun is 6.3x10"wm °. What is the surface

temperature of the sun by considering sun as a black body. Stefan’s constant is
5.7x10%w-m™?* -k™ |

(A) 5667K (B) 7566 K

\y 5766 K (D) 6756 K

Gflwer Qauafluu@sgn <pnadear sierey 6.3x10"wm™? aaflled, Gfluer gm smb Qurmens
sHsULELGCUTE, g Cuouriy Qeuufleeular Saramasd sarsdlBs. eveuer wHll =
5.7%x10%w-m?-k™

(A) 5667 K (B) 7566 K

(C) 5766 K (D) 6756 K

161. Which 1s the biggest nuclear power station in India?
(A) Kalppakkam
(B) Bangalore
Tarapur

(D) Kanpur

@ndwirellayerer lasiGlLf ojemidler 2 e eTmi@emarg)?

(A)  seurssd

(B)  QuriaesT
(C)  smymlyr
(D)  smenyr
A 63 FAGST
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162.  When did EVR launched the Self-Respect Movement?

(A) 1922 (B) 1923

\9/ 1925 D) 1926

eLCungy shens Auilwnt swwflwuramg Qusssms Qs kdeanmi?
(A) 1922 (B) 1923
© 1925 D) 1926

163. The film titled ‘Hell's Angel’ is on the highlighted the personality of whom?
(A)  Muthulakshmi Reddy
(B)  Sarojini Naidu
Mother Teresa

(D)  Sister Alfonse

‘Bregdlen Coaugnst eremm Quwifemer Sy gl HssMaatuGd wrdumb Gueoet] wrr?
Q) psgeins Gnly

B)  Cyredafl By

(©)  oememen Qggen

(D) sCarsh o0Curenen

164. What was the original name of Sister Nivedita?
(A) Saradha Margaret Noble
(C) Besant (D) Bikaji Gama

#Garsfl HiCaudssmedlen @uip@uuwi eremen?
(A)  esmgsT (B) wrrsCrl CrmSer
C)  Hmwd Ausen (D) Qarel smon
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165.

166.

The value of x where x: 2% 221:50 is

1 1
A 1— B 1—
L 49 (B) 50
49 27

i’ (D) ==

50 50

X' 2% :21:50 eremm e9dlg swsled x e iy

1 1
A 1— B —
@ 49 ® 150
49 27
C =t D) =—
9 50 @ 50
If-q-:é,ﬁndthevalue of e
b 3 a-b
3
4 B =2
v ® 3
92
C) 8 D) =
(©) D) 3
%zg erefl igmmﬁuq
. 3
A) 4 (B) 5
2
D) =
€ 8 (D) 3

167.

The difference between the highest and lowest value of the variable in the given data is
called

(A) Frequency (B) Class limit

(©) Class interval Vm‘ Range

Asr@Hsgierer efleurmisafia sL@uAlu LHUGDEWL WsFHMu LHUGHEWD 2 drer edlsSHwred
A)  HapCaeer B) \Qfley crévenen
C) Yfle @en Qeuefl D) &5s
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168.

169.

170.

Which one of the following Article deals with the office of the Advocate General for the

state?
(A)  Article — 155 _ \/Article 165

(C) Article—175 (D) Article — 185

Spaar_cubpier Lrfle geawamn upssHeT Sigleuasd Qg iymiw rdlumeoli] 80 L §7és)

6T8)?
(A) 98- 155 (B) off- 165
©) 98-175 ' (D) off-185

Which of the following Article of the Indian Constitution explains the original Jurisdiction
of the Supreme Court?

w/ Article — 131

(B)  Article — 132
(C)  Article - 133
(D)  Article — 134

2 && hflwemmb weaeoura xfary agbloea dafsgn @iy rduesmolifear s L el

T2
(A) a9 - 131
(B) o8- 132
(C) o96-133
(D) &9 -134

L]

The \N ational Commission for women was set up in the year
A) 1991 1992
(C) 1993 (D) 1994

Cadlw Quamaer g,amamwibd Hpeuliul L o6/
(A) 1991 " (B) 1992
(C) 1993 (D) 1994

FAGST 66 A



171. To measure the changing height of the Earth's ice, NASA has launched a satellite called

(A) ICESat1 P ICESat 2

(C) ICESat3 (D) ICESat 4

uSlufen rmb vafluL i 2 wiFgens Sjerell prereure geuliul_[Hearer QawpHensCarar
(A) ICESat1 (B) ICESat 2
(C) ICESat3 (D) ICESat 4

172.  Which of the following state is worst hit by heavy rain of SW monsoon in 20187
Kerala

, (B) Tamilnadu

(C) Mumbai
(D)  Bihar

QaanGLom@E Lneu wenpuferme 20186 s Cumswrs urdléas UL wrfleob erg?

(A) Csyarm
B)  HOPET0
(€)  apibenu
D) Sarr

173. The country to send humans to space after USSR, USA and China is

% India (B) France

(C) dJapan (D) South Africa

Gomeflus peswn, pEdu HQwLRsen, fam odu BrRsEsEEH GpE walsmar alarQaeise
S@IUU 2 emaT B (H

@)  @pSun B) Qyrens

©) guumen (D)  Ggen pifléan
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174. The hardest naturally occurring substance is

(A) Iron (B) Graphite

J Diamond (D) Astatine

QupersiCaCu Blss siqarors fevL_&@ 0. CUmmeT oTg?
A  @moby (B) Slgrepu

(C) eaupd D) eevrenen

175. Bonding present between the carbon atoms in graphite is
(A) Metallic

(B)  Ionic

M Covalent

(D)  Vanderwaal’s forces

&lrrenu g6 STTLET DigmisseT eatGprLrenmy ereueurm e anrdaLiLiL_(Herare?
A) 2 Carslulenemriiyy

B)  swellGemeariiy

(©C)  ssLlenanriy

D)  euram_reumeev NenewriiLy

176. The percentage of Nitrogen present in the atmosphere is

A 45% (B) 28%

\/ 78% D) 8%

euatler_agdle enpLymer creuaare) 565510 @) HEE ms)?
(A)  45% (B) 28%

© 8% : D) 8%
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178.

179.

In 1963 Morarji Desai resigned from Nehru's cabinet because of
(A)  The debacle in the Indo-China War
(B)  His confrontation with Nehru

Kamaraj plan

(D)  His failure as Finance Minister

1963 aupLtb Cpmellen opAlf samuuiedmbg Qumpmig) Cosmis elledluigen sTyeawrid
A) @pdu-Ears Cumfled @ndHuwirelen Comeed

(B) Cmwmayermer Guomge

(C)  amogrgy S ib

(D) A vpHflwurs eurg Comeal

Kulothonga I1I built the Kambha Kareshwara temple at

M .Thirubhuvanam (B) Darasuram

(C) Tanjore (D) Chidambaram

aparprd GCangghisamd, snuanGregeurT <paub erepriuiul L @b
A)  Smyeuabd (B) smyramb
(C)  sepsmaym <. (D) é&sbugb

Oln which day the National Kite Festival takes place in Ahmedabad?
On the Makara Sankranti festival

(B)  On the Sharad Purnima Day

(C)  In the Lucknow Festival Season

(D)  On the Natyanjali Festival Occasion

erppretle) ianwgrurs pafld Cadlwus srHprys Smellpr peanL Qumdng?
(A)  way srsympH prateny

(B) &5 wienflom mareim

(C) @&Car Hmelpr sresdled

(D)  priguwmepsed Hmelpraliien Cumg
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180. Find the wrong numbers in the.following series :
69, 55, 26, 13, 5
A 5 (B) 13

() 26 W 55

ECpwyarer auflenguiied eupren ereiaments Srams.

69, 55, 26, 13, 5
@ 5 ®) 13
(C) 26 (D) 55
2 3 4
181.  Complete the series: 24 39 ?
20 30 40
A) 44 (B) 49
(C) 50 va( 56
2 3 4
auflensenw flyliys: 24 39 2
20 30 40
A 44 B) 49
© 50 D) 56

182. * The pairs of equations 2x -4 =0; 4x + y+ 4 = 0 find the solution

w/ (2, -12) : (B) (2 6)

© 23 “ ) 1.3

2x-4=0; 4x + y + 4 = 0 QsrpasiuPerar swUTL Iy HE Sie STawTs.

@ (2 -12) . ® (26
© (@ 3) @) @, 3)
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183.

184.

Which one of the following does not affect the horizontal distribution of Temperature?

Gerreumeuareupmier SlenL-ol L Qeuliu ugaueme undlésng snenfl 6rg)?

(A)  Nature of Land Surface
(B)  Ocean Curreénts
Sea — Waves
(D)  Salinity of Sea Water
Q)  Pe Cwpurinler senenio
(B) &L BCrrlLmsar
(C) &LO— mesar
(D) sLe Bhar 2 auri@uid
Match :
Trench
(a) Mariana Trench
(b) Peru Trench
(c) Sandwich Trench
(d) Sunda Trench
(a) (b) (c)
vﬁ( 4 1 2
B) 1 2 3
€ 3 4 1
D)y 2 3 4
Qum(mss)s :
215l
(a) whlurerr s
(b)  GQum s
() anaw_eild s
(d) aspsTois
(a) (b) (¢
A 4 1 2
B) 1 2 3
© 3 4 1
D 2 3 4

© Ocean |

} South Pacific Ocean
2. South Atlantiec Ocean
3. Indian Ocean
4. North Pacific Ocean
(d)

3

4

2

1

Gugmgl

1. Qgear udlGs Guyml
2. Qe L _amaimig.d Guipmgl
3. @pdwi Gugmd
4, auL u&9s Gugmgl
(d)

3

4

2

1
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185. Who won the International Geography Bee World Award?

(A)  Akshay Venkatesh

\/ Avi-Goel

(C) Bhanita Das

(D) Ang Lee

sreuGge Ledlullwe Caaf erety L L Sas Geuemmeur wimir?
A) oseyl QeunsGL s

'(B) 2169 - Gamue

©  ueflgr- smav

D) e

186. Who wins the 3¢ BRICS film festival’s best actress award?

M Bhanita Das

(B) Rima Das
(C) Sabana Asmi

(D) Seema Biswass

Gfgev prser pLsHL eparpraug Heoriiul efpredd Slpps By enasaner allmeng Cleusmarareum
wImr?

(A‘) uaflgr grev

(B)  Awmgrev

(C)  sumanm oyevLd

(D)  &wom Qeveumen
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187. The smallest of the living apes is

(A)  Gibbon i \A.‘oris

(C)  Orangutan (D) None of the above

Siflw euens eum(pb eured Gaver @G cuans

(“} Sluumen (B} Cariflei
(C)  yrérgLmer (D) ergiayudcvana

188. In human beings, sex is determined by sex chromosomes X and Y. The female human is

represented by sex chromosomes

&) X0 - ua( XX

© XY _ D) YY

wefly ure Biamuisseller, urd GCrmGurCsmbsdr X whpmb Y o datean. wry Sewlife Fyrsef
Querrentles GCrmCrCembaer

(4) X0 (B) XX

© XY ' : (D) YY

189. The pH of a fertile soil is usually around

P
@ 2-3 v 6-7
(€ 8-10 D) 11-12
cuemd wHmd eflwiwmen wewrenflar pH
A 2-3 y - B) 6-7
(C) 8-10 @ 11-12
A 73 FAGST
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190. Intheseries 641228742153862171413286 how many pairs of alternative

number have a difference of 2?
(A) One o v{ Two
(C) Three (D) Four

64122874215386217141 3286 aramm Qi genm 69 L eramaefien elsSHwman 2
2,5 Q&G Gy Sa6T eTéseme?

A) gy B)  Qrew®

(C)  epenm D) mrene

191. Rohan ranks seventh from the top and twenty-sixth from the bottom in a class. How many

students are there in the class?

@ 31 V( 32

© 33 _ D) 34

20 awgLule Grrsar Coadlmbs gpreg srédan SCpuUlmbs @musd nres srssaid Csresd
QAubpred Bs euELIbeD 2 drar reuamiaatien eramentléEms eraueare,?

@A) 31 B 32

(C) 33 | (D) 34

~

192. A can do a piece of work in 20 days and B can do it in 30 days. How long will they take to do
the work together?

\/ 12 days (B) 14 days

(C) 16 days : (D) 20 days

A erémueui g Couamavenw 20 mriseflgud B eramucur 9Cs Ceuamaanwu 30 priseflgud Qawig
pyuurigeT. Sjeuellmeumb Combgl SieuCaimean s Qalig (g &6 TEFemar BT GeT @ ?

(A) 12 mriser (B) 14 priger

(C) 16 priaar (D) 20 pr_ser
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193.

194.

195.

Which Article of Indian constitution gives right to women education?
(A)  Article-24 \’ef Article-15
(C)  Article-28 (D) Article-351

BpHwu sirslwe senwinde erpg fley “Guer swall 2_famwenw” Dellsdng?
A  9fle): 24 B) @Gfley: 15
(C) Qfey: 28 (D) Qfey: 351

In which year was the New population policy announced in India?
(A) January 15, 1978
(B) October 18, 1979
April 16, 1976
(D)  July 16, 1990

@bHwneller s e “‘UHw wEsaOsTmss Qararams” siMeNsEsiuLLg)?
(A)  menaufl 15,1978 '

(B)  =&CLmUF 181979

(C) gure 16,1976

D)  grea 16,1990

Identify the mismatch.

Nethaji —  National Planning
(B) Tata — Bombay Plan
(C) Shriman Narayan -~  Gandhian Plan
(D) M.N. Roy —  People’s Plan

L ]

soupnen QuUmméSHemnss ser (Rl &seb.

A) Crsrgd -  GCsfluw Lo

B) Lriunm ' - uwbumd S b

(©)  wuBwer mmymwLeT - smhSw b

(D)  erib.erewr. gmu —  Wwéser b
75
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196. Which of the following State to get first cow Sanctuary?

(A)  Punjab (B) Haryana

W Rajasthan (D) Gujarat

WPsa L& sTamTeOWS®mS HunmieTar apsd GbHw wrhlan
(A)  uEpel (B)  aenflwrenm

(C) @urmevsmen D)  ©mms _

197. Mukhyamantri yuva Nestum scheme is introduced by

% Andbida Pradesh

(B) Telungana
(C) Karnataka
(D) Kerala

awLHER weu Apeyi b HL b SPlapstuPFsiLc Herer wmban
4)  pdy GrGgewd
(B) Qsamsren
(©)  siprisn

(D) Csyarr

198. iHUB has been set up at

(A) Tamil Nadu mndhra Pradesh

(C) Madhya Pradesh (D) Uttar Pradesh

1HUB evwowib ghu@ssiiul@erer wrfleth

A)  sBHEE | B)  @sdrdrGssd
©)  wasHunWCssw D) 258 Cssid
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- 199.

200.

Which of the following statement is not correct regarding Igneous rocks?

(A)

477

Igneous rocks are generally hard

Igneous rocks do not have strata

y Igneous rocks contain fossils

D)

Igneous rocks are mostly associated with the volcanic activities

Wetreumeuemeupmier SLiunem GNss sapmésafie argl silwneng @damea?

(A)
(B)
©)
D)

Shiumepaer QUTEITS sl aTomaTg)
Sliumeanmser 2i(H&@aman Gamamg HUuSaama
Stiumenpser GlgraLig omisameT QETeaTiq (H&EWD

Suurenpaer QumLTEID erflame GewdurGLm@ ng_ﬁ'uehérmaj

‘Fruit of angel’ is referred to

(&)
B)

Mango
Jack

‘Coeugnsiseaiien safl ere @GOG LLRug

A)

(B)
©
D)

o

ueuim

GUITENLD

udiumerd
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